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B. A. (HONOURS) ECONOMICS 

(BAECH) 

Term-End Examination 

December, 2024 

BECE–142 : APPLIED ECONOMETRICS 

 Time : 3 Hours    Maximum Marks : 100 

Note : Answer the questions as per instructions 

given in each Section.  

Section—A 

Note : Answer any two questions from this Section.  

2×20=40 

1. Show why it is better to err by ‘including an 

irrelevant variable’ as compared to omitting a 

relevant variable’ in regression models. 
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2. Discuss the effect of lags on ‘market 

equilibrium’ with examples. 

3. Analyse the case of ‘Simultaneous Equation 

Bias’ in the Keynesian Model of Income 

Determination. 

4. Explain, with illustrations, the types of  

panel data models and their estimation 

procedures. 

Section—B 

Note : Answer any four questions from this  

Section. 4×12=48 

5. Illustrate the framework of a ‘pooled cross- 

section data’. 

6. Discuss the underlying idea behind binary 

dependent variable models. What are the 
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benefits of applying Logit Model compared to 

Linear Portability Model (LPM) ? 

7. Illustrate the procedure for obtaining the 

results of ‘one-way ANOVA’ in R. 

8. Explain how ‘diagnostic tests’ can be  

performed on regression results obtained in 

STATA. 

9. Differentiate between ‘research design’ and 

‘research methods’. 

10. Specify the particulars of a test for  

detecting the presence of ‘irrelevant  

variables’. 

11. Illustrate the interpretation of ‘parameters’ in 

logit models. 
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Section—C 

12. Write short notes on any two of the following : 

2×6=12 

(a) 2 SLS method 

(b) Reduced Form Equations 

(c) Akaike Information Criterion 

(d) Kyock’s Transformation 
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      BECE–142 

ch- ,- (vkWulZ) vFkZ'kkL=k 

(ch- ,- bZ- lh- ,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-bZ-lh-bZ--142 % O;kogkfjd vFkZfefr 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % izR;sd Hkkx esa fn, x, funsZ'kkuqlkj iz'uksa ds mÙkj 

nhft,A 

Hkkx&d 

uk sV % bl Hkkx esa ls fdUgha n k s iz'uksa ds mÙkj nhft,A 

2×20=40 

1- n'kkZb, fd izrhixeu ekWMy esa ^lEc¼ pj dh 

mis{kk* dh rqyuk esa ^vlEc¼ pj dk lekos'k* csgrj 

=kqfV D;ksa gSA 
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2- ^cktkj larqyu* ij foyEcu ds izHkko dh ppkZ 

mnkgj.k lfgr dhft,A 

3- vk; fu/kZj.k ds dsfUt+;u izfreku esa ^;qxin 

lehdj.k vfHkufr* dk fo'ys"k.k dhft,A 

4- fofHkUu izdkj ds iQyd [kaM izfreku vkSj muds 

vkdyu dh izfØ;k dk mnkgj.k lfgr o.kZu  

dhft,A 

Hkkx&[k 

uk sV % bl Hkkx esa ls fdUgha p kj iz'uksa ds mÙkj  

nhft,A 4×12=48 

5- ^ladfyr vuqizLFk&Hkkx vk¡dM+ksa* ds <k¡ps dk o.kZu 

dhft,A 
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6- ;qfXer fuHkZj pj izfreku ds ihNs vUrfuZfgr  

fopkj ij ppkZ dhft,A jSf[kd lEHkkO;rk izfreku  

dh rqyuk esa ykWftV izfreku ykxw djus ds D;k  

ykHk gSa \ 

7- R esa ,dfn'k ANOVA ds ifj.kke izkIr djus dh 

izfØ;k dk o.kZu dhft,A 

8- le>kb, fd LVsVk esas izkIr izrhixeu ifj.kkeksa ij 

funkuksUos"k.k ijh{k.k fdl izdkj fd, tkrs gSaA 

9- ^'kks/ vfHkdYiuk* vkSj ^'kks/ fof/;ksa* esa vUrj Li"V 

dhft,A 

10- ^vlEc¼ pjksa* dh mifLFkfr dk irk yxkus ds 

ijh{k.k ds fooj.k fu£n"V dhft,A 

11- ykWftV ekWMy esa ^izkpyksa* dh O;k[;k dks Li"V 

dhft,A 
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Hkkx&x 

12- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   2×6=12 

(d)  2 SLS fof/ (f}&lksikuh U;wure oxZ fof/) 

([k)  lekuhr lehdj.k 

(x)  ,dSd lwpuk dlkSVh (AIC) 

(?k)  dks;d ifjorZu 
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